iy

3
P=si
i

1. ¥¥4
B4 ST EEETUNE NS MR A ST
JEATST FJUIN HFH i JR A N

2. EBNE
1) FHHA M EEHFERSTT B9 - B
179 AR B 4&fn 74 8H26H

2) JE1THIR
£ o 8% 2H20H

3) &FEtHM
BIEDIE Y

4) FEHBNA
AR, TUNE NEEE S EOE R S ORETER 25 L, SR O BIC S
BT =2 EWFT 5 L & bIT, MERMEREETE OGN 2L R AT O DT 215
LbDTHD, iz, TREIRIETH] SOk (OUEINRR, DIEbHR

NE) ZHEL, RIEHANORREZTT O b O TH D,

E+sZi@E SN



i
I
St
%lljll
I

WA | AR T EETUNENEmE IR AR E W=
HH AR
THH - T - R A7 # & KA OB ORR
AERA = 13, 930, 835
iz e N 2y 10, 181, 509
Erp—— 2 623,700 | FHmivEf
1 =X
&R E =X 9,557,809 | HIMEEA (Mgl
115.9 km
&R E
115.9 km
T — 4 JLE
115.9 km
FEWIRAE T HRGE E2V 3, 749, 326
FHRGE T HMGE X 3,749,326 | BIMERA (MGIRE
32.6 km
PR E
32.6 km
il e tpeeisaii
32.6 km
BiStii} = 214, 600
Bisii] = 214, 600
Tavs = 214,600 | ¥T&E
1 =
TEEFATRRINC D30 5 AR A2y = 384, 900
FEE AT NS 237 D B A E = 384, 900
TFEIRATI RN Do 2 A N v 384,900 | TEAEMATHRICAR D B SRR (%
i PR A - SLHR A (W 1 =

E+sZi@E SN



==
=]

m
2
%

¥4 | BT EENENEEIEIRRAER Eg W=
HH TEAERATIERNC 2370 B IEHE A
HE - TfE - FEH A7 B & 4 A OB N AR
FEERATHRIENCAR D B A2 (B
T PIRFAAT « B PRI E) 1 =
FEERATRE AR D B (B
B THRGE - A (W) 1 2y
FEERATRE IR D B (B
HACRSE L RRAE - B rERAE) 1 M
[EEE Y 2y 1 999, 956
[ER Y 2y 1 999, 956
RS im e X 1 77,346 | REATEE
1 X
T A E e (MR AR - BiHGH
& (ML) ) 1 oy
e sty (M rE R - Mtk
AR 1 A
kR im (EW%EEI%*@%E - 5l
HIFRA (AR 1 L
ﬁ%@@%(ﬁﬂ;ﬁ%uﬁiﬁﬁum #
EPERHE) 1 N
TR = 1 788,610 | JEMEE
1 =
B R e #: 1 134,000 | AR IEREY
1 =
Heftr e B = 1 231, 800
Bl By = 1 231, 800
£lﬁéi’tﬂm BT — & _— (B = 1 231,800 | Bt
5 Beek 1 X
B v 1 15, 762, 091

-2 - E+sZi@E SN



FEH N

%lljll
I

EHL | AT EETUNENE IR R E BB
H H MRS
THH - T - fER] B fr ¥ = 4 % OB ORR
R e = 1 11, 147, 909
FEIRE E2V 1 11, 147, 909
T ESEG MR 2y 1 26,910, 000

E+sZi@E SN



